Mixture Worksheet

1. You must mix Pantone 277c. The color recipe states you need 31 parts Pantone White and 1 part
Pantone Reflex Blue. If you need a total of 7 ounces for a job, how much of each color do you need?
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2. You must mix Pantone 319c. The color recipe states you need 2 parts Pantone Process Blue, 2
parts Pantone Green, and 12 parts Pantone White. If you need a total of 14 ocunces for a job, how
much of each color do you need?
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For problems 3-6, solve for the ordered pair.
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A chemlst has a solution which is 75% acid and another which is 30% acid solution. How many
pounds of each solution should be used to produce 36 pounds of a 55% acid solution?
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